EARAROBEEIERT — 2 N— IBISH —F

201756A22H (K) 7HEZHE3H

m#33ﬁ‘i9.‘ﬁﬂ 9 ¥5R3® ECEE IR
[AE£] 1% :250,000” ~ 23#%&:63,000”  33%&:25,000M”  43%&:15000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 43 | FHEERME 51.5 1-1 37.6| — 2 503 | AEEL (BHE)
111 A2172 .0 =) we) | LERE
R:¥xrinqno— B:FFTAT4 e &
ft 3 | AllHEE 51.9 1-3 8.0 — 1 423 | LUIRAIRR (BHE)
2155 LAAXAT L N—TF— 54.0 ) 0 iEfnt
R:B8—BMLVERII B:T77E25X€2X HE77—L
# 3 | ETHE 51.9 32 380 — | 4 | 41 |ETE-5 (BFHE)
<l 4 ARG 755.0 7E) 3 | HEEA
R:vavrh>T BIZANATEY Raikae]
502 = £ 3 | HEBAME 52.7 5-5 38.3| — 7 421 | FEBC (BHE)
w77 |77 -5 ~ 7] 860 @ 3 | B =257
RihrEFRY BZXA—FL—X 5% UL ¢
RSP 4 3 | 1R 53.0 4-4 38.6| — 6 450 | BTIBE—5 (BHE)
5 X 6 J—=IVXv 2T 56.0 (11/2) (-2) (#k) AN
LT TANIVE BioiN—14 2R Il #Eth
FTzE . — . — MTEA (BEE)
Y 3 KIANEATAL H 3 e (7?3907) 6-6 38.1 5 ig? i =S
LTSy I84K B:iwr/x73 Lakibie
= B3 | RZEIE 53.3 6-6 38.4| — 3 47 | BRBX (BHE)
7 2 gor))— ¥¢53.0 (11/2) -2) RiBE—
Lhzxex) BE17/NyYa> WA Bk
® I —F—EBIERL
|2=3F=
230—7F—
da=3r= (1,5),4,6,7,(2,3)
43—F— 1,4,5,6,7,(2,3)
[ N3
BB 1 400/ 714K 1-5 130H B = 1-5 170H 3EHE 1-4-5 270M
8 B 1 100M 1-4 230M B H 1= 460M K31 1-5-4 1,310
5 100M 4-5 180M

ABICOVWTRDTEEERROODE. TR LIV,




